
SAP ABAP table LOP_S_EMBEDDED_TREE_DISP_2 {Display Structure Embedded Tree (2nd)}

LOP_S_EMBEDDED_TREE_DISP_2

MATNR [CHAR (18)]

PLANT [CHAR (4)]

INCO1 [CHAR (3)]

COUNTRY [CHAR (3)]

UNIT [UNIT (3)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 LOP_S_EMBEDDED_TREE_DISP_2-MATNR = MARA-MATNR 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]
 LOP_S_EMBEDDED_TREE_DISP_2-PLANT = T001W-WERKS 

0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 LOP_S_EMBEDDED_TREE_DISP_2-COUNTRY = T005-LAND1 
0..N1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 LOP_S_EMBEDDED_TREE_DISP_2-UNIT = T006-MSEHI 

0..N

1

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 LOP_S_EMBEDDED_TREE_DISP_2-INCO1 = TINC-INCO1 

0..N

1


